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Worksheet: Solvmg word problems using systems of equations (part 2). Edentify your
~ variables, sst up a system of equations, and solve for your variables.

1. The costof 5 squash and 2 zucchini is $'i 32, Three squash and 1 zucchini cost $0.75. Find the
cost of each vegetable.
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2. Judy worked 8 hours and Bé“’“‘ worked U hours Their combined pay was $80. When Judy worked

9 hours and Ben worked 5 hours, their combined pay was $65. Find the hourly rate of pay for each
person. -
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3. Four basebalt cards of Babe Ruth and 3 cards of Satchel Pa;ge sold for 3105 ata baseba!t card \ 7o o
convention. Later that weekend two Babe Ruth cards sold and 3 Satchel Paige cards sold for $63.
- Find the value of each card.
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.4, Students ina theatre class sold 160 adult and 340 student tickets for a pfay worih $’£ 480, gxféo 3 < .:j: ?

- adult tickets and 400 student tickets fotaled $‘2200 how much did each ticket cost? . ’i:z
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5. The talent show committée soid a total of 530 tickets in advanoe Student ticke’cs CDS’t $3 each and
the adult t(ckets cost $4 each h‘ the total reoe:pts were $174O how many of each type of ticket were
sold? - C ~ o
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" 8. Ann and Betty toge’cher have $60 Ann has $9 more ’zhan thce Be’dy S amount How much money
- does each have? . .

. How many of each color are in ’[he bowl? -
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8. The !ength of a rec‘fangie is 4cm tonger than ’zhe w1dth The penmezer is 80 cm. Find the length and
the Wldth T
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7.A collection of nickels and quarters is worth $2 85 There are3 more mckeis than quarters How , ,
‘many mckels and quarters are there? S , Rod= 2
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9. A bowl contamed 13 red and brown M&M 's. There was one more red M&M s than bmwn M&M s.

T;%mf

i')\ P&:,f .mw, Iz

S m‘g«gg”iﬂ fg fﬁf«} § (’T 5)?5/; gi =y

S '1»0 A mowe theater charges $5 for an aduit’s tzcket and $2 for a chﬂd s txcket One Saturday, the -
theater so%d 785. ttckets for $3280 How' many of. each type of tlcket were. so!d'? S
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11. Jason bought a total of 7 postcards for $1.80. if the small postcards cost $0.20 and the larger
ones cost $0.30 each, how many postcards of each size did he buy? ,
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12.-Victor earns &34.25 an hodr warking after school and $5 an hour working on Saturdays. Last week
he earned $67.50, working a total of 15 hours. How many hours did he work on Saturday? )
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13. The length ofa rectangle is 5 cm less than three times its width If the perimeter is 70 cm, find the
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14. Thirty students bought penﬁants for the football gamé. Plain pennants cost $4 each and fancy '
. ones ¢ost $8 each. If the total sales were $168, how many students bought fancy pennants?.
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15. A pear has 15 more calories than a grapefruit. Twénty pears and ten grépefruits havev'a total df
1800 calories. How many calories are in each type of fruit? ‘ - o
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